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; 100kN/mM##8Z % — -~ = —|3mZEBZB| — ~ — — — | 100kN/mM%Z#BZ % — - ~ — — |3m%#BZA S - ~ — — —
ZznLst 1.00 1 000 ~ 356 44.98 | =LY | 000 ~ 35661219 11.06 Zzh s 1.00 | 5.00 ~ 5.00 44.98 | =nst | 65,00 ~ 500|219 11.06
2 100kN/mM#%#8Z % — -~ = —|3mZEBZzB| — ~ — — — | 100kN/mM%Z#8Z % — - ~ — — |3m%#BZA S - ~ — — —
Zhnst 1.00 | 000 ~ 217 29.57 | EnLS 000 ~ 217|274 13.83 ZThLLst 1.00 | 6.00 ~ 6.90 29.57 | #hs | 500 ~ 690|274 13.83
3 100kN/mM#%# 8% % — -~ = —|3mZEBz3| — ~ — — — | 100kN/mMZE#B 25 — - ~ — — |3m%#B2% - ~ — — —
zh st 1.00 | 0.00 ~ 6.90 87.35 | #hst | 0oo ~ 690)| 1.88 9.50 Zzh st 1.00 | 5.00 ~ 8.80 87.35 | #hst | 5.00 ~ 880 | 1.88 9.50
4 100kN/mM#%#BZ % — -~ = —|3mZEBz3%| — ~ — — — | 100kN/mMZ#B 25 — - ~ — — |3m%#BZ2% - ~ — — —
Zzhnst 1.00 ] 000 ~ 646 81.37 | #nhist | 000 ~ 646| 1.84 9.51 ZThLLst 1.00 | 5.00 ~ 7.80 81.37 | NS | 5,00 ~ 7.80 | 1.84 9.31
5 100kN/mM#%#BZ % — -~ = —|3mZEBz3| — ~ — — — | 100kN/mMZ#B 25 — - ~ — — |3m%#B2% - ~ — — —
zhnst 1.00 ] 000 ~ 769 98.66 | #ns | ooo ~ 769|220 11.13 zh st 1.00 | 5.00 ~ 1030 98.66 | TnLS | 5,00 ~ 1030 | 2.20 11.13
100kN/mM#%#BZ % ~ ImEBZD ~ 100kN/mM#E#BZ % ~ 3mEHBZAS ~
Zzhnst ~ Zhn s ~ zh st ~ zhnLs ~
100kN/mM#%# 8% % ~ ImEBZD ~ 100kN/mM#E#BZ % ~ 3mEHBZAS ~
zhnst ~ zhLs ~ zhst ~ zhLst ~
100kN/mM##BZ 5 ~ ImEHEZD ~ 100kN/m%#EZ % ~ ImEEZD ~
zhst ~ zhLs ~ zhst ~ zhLst ~
100kN/m##BZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEEZD ~
zhnst ~ zhLs ~ zhst ~ zhLst ~
100kN/mM##BZ % ~ ImEHEZD ~ 100kN/m%#EZ % ~ ImEEZD ~
zhnst ~ zhLs ~ zhst ~ zhLst ~
100kN/m##BZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEEZD ~
zhnst ~ zhLs ~ zhst ~ zhLst ~
100kN/mM##BZ % ~ ImEHEZD ~ 100kN/m%#EZ % ~ ImEEZD ~
Zh st ~ Zh st ~ Zh st ~ LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zzh st ~ Zzh st ~ Zh st ~ LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh st ~ Zzh st ~ Zhst ~ LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/mM%#BZ % ~ ImEBZD ~
Zh LS ~ Zh s ~ ZnList ~ Zh LS ~
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